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Question Number : 1 Question Id : 6801915548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The causal agent of Byssinosis 1s:

. Pollen dust
. Arsenic

3. Cotton dust
4. Iron dust
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Options :

68019121701. 1
68019121702. 2
68019121703. 3
68019121704. 4

Question Number : 1 Question Id : 6801915548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 6801915549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The important characteristic of k-selected population is
(A). convex survivorship curve

(B). low fecundity

(C). exist close to their carrying capacity

(D). mtraspecific competition

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.
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Question Number : 3 Question Id : 6801915550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Processes) (Changes)
A | Nudation I. |Creation of barren a:Fea
B. |Ecesis II. |Establishment of species
C. |Reaction I |Community in equilibrium with organisms
D. |Stabilization IV. |Modification of habitat

Choose the correct answer from the options given below:

. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
(A) - (I). (B) - (III). (C) - (II). (D) - (IV)
. (A) - (D). (B) - (I). (C) - (IV). (D) - (I1T)
4. (A) - (IID). (B) - (AV). (C) - (I). (D) - (II)
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680191217009. 1

68019121710. 2
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Question Number : 3 Question Id : 6801915550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 1 Y fHaE $ifern
A |T3=F I |sSR &7 @1 FEi

.- TH Y 1. |ufoal &Y RTg=T

] 111 [<ifal & Gry Hgad H ¥9a1™
. |RdiE IV. |3mag © ggang

A feu e fosed B 9 981 S I |

L. (A) - @) (B) - II). (C) - (IV). (D) - (III)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (I). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)
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Question Number : 4 Question Id : 6801915551 Question Type : MCQ Option Shuffling : No Is
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : The zone of transition between two communities 1s called an
ecotone

Reason (R) : The ecotone has more diversity than either of the two communities

In light of the above statements, choose the correct answer from the options given
below:.

. Both (A) and (R) are true and (R) 1s the correct explanation of (A).

. Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A).
(A) 1s true but (R) 1s false.

. (A) 1s false but (R) 1s true.
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6801915552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The decreasing order of concentration of green house gases (GHGs) in the
atmosphere 1s :

(A). CO,

(B). CH,

(C). CFCs

(D). N,O

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (Q). (B). (D).
.(B). (A). (D). (C).
4.(C). (B). (D). (A).
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Question Number : 6 Question Id : 6801915553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inverted ovules are called as

1. Orthotropus

2. Anatropus

3. Amphitropus
4. Hemianatropus

Options :
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Question Number : 6 Question Id : 6801915553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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Question Number : 7 Question Id : 6801915554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different methods to overcome self incompatibility are
(A). mixed pollination

(B). bud pollination

(C). stub pollination

(D). intra-ovarian pollination

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
(A). (B). (C) and (D).
4. (B). (C) and (D) only.
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Question Number : 8 Question Id : 6801915555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Processes) LIST II (Scientists)

A |Intra ovarian pollination| I. |L. Haberlandt
B. |Double fertilization II. |E. Strasburger
C. |Syngamy III. |5 Nawaschin

D.

Necrohormone theory | IV, [Kanta

Choose the correct answer from the options given below:

- (A) - (D). (B) - (ID). (C) - (III). (D) - (IV)
. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
A(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A)-(IV). (B) - (IT). (C) - (I1). (D) - (I)
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Question Number : 9 Question Id : 6801915556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : Male sterility in angiosperms can be induced by inserting a
bacterial gene called BARNASE

Reason (R) : BARNASE causes premature breakdown of tapetum resulting in
arrest of microspore development

In light of the above statements, choose the correct answer from the options given
below.

. Both (A) and (R) are true and (R) is the correct explanation of (A).

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
. (A) 1s true but (R) 1s false.

. (A) 1s false but (R) 1s true.
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6801915557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most effective sugar in promoting pollen germination is

1. Glucose
2. Fructose
3. Sucrose
4. Maltose

Options :
68019121737. 1
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Question Number : 11 Question Id : 6801915558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The specimen collected from the same locality from where the holotype was
collected 1s called as

. Isotype

. Topotype
. Syntype

. Paratype
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Question Number : 12 Question Id : 6801915559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Free central placentation is present in the family of

. Brassicaceae

. Cucurbitaceae

. Caryophyllaceae
. Capparaceae
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Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6801915560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Taxonomic characters)| (Families)
A |Jaculators [. |Apiaceas
B. |Carvopsis fruits II. |[Euphorbiaceae
C. |Cyathium II1. |Poaceae
D. |Cremocarp fruit IV. |Acanthaceas

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
. (A) - (1). (B) - (IIT). (C) - (IT). (D) - (IV)
(A) - (D). (B) - (D). (C) - (IV). (D) - (1)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)
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68019121750. 2

68019121751. 3
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Correct Marks : 4 Wrong Marks : 1

g1 191 gt 11 ¥ [HaE $ifer
TqA 1 I

(@i et damn (@Fd)
A [Soacd L |uitzd
B. BRI Ba I (gmRfegdt
c. |[amsfmm III. |OTeE
D. |shHidbId Bl IV. [ Sfesed
=i feu 1T fgoedl § ¥ Het STR A |

1. (A) - (IV). (B) - (IT). (C) - (II). (D) - (I)
2. (A) - (1), (B) - (IT), (C) - (I1), (D) - (IV)
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Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : APG classification system 1s not useful for adoption in herbaria
and flora

Reason (R) : APG system taxa have been classified only up to the level of family
In light of the above statements, choose the correct answer from the options given
below:.

. Both (A) and (R) are true and (R) 1s the correct explanation of (A).

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
. (A) 15 true but (R) 1s false.

. (A) 1s false but (R) 1s true.
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68019121755. 3
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Question Number : 14 Question Id : 6801915561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
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Question Number : 15 Question Id : 6801915562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The important character of the family Asteraceae 1s

(A). Intlorescence is a racemose head or capitulum

(B). Presence of cypsela fruit

(C). Presence of gynostegium

(D). Placentation is free central

Choose the correct answer from the options given below:

. (A) and (B) only.

. (A). (B) and (C) only.
(A). (B). (C) and (D).
4. (B). (C) and (D) only.
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Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hanstein proposed -

. Apical cell theory

. Histogen theory

. Tunica corpus theory
4. Histogen layer theory
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Question Number : 17 Question Id : 6801915564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : Root apical cell theory of Nageli does not hold good for flowering
plants

Reason (R) : In flowering plants. a group of mitials has been observed

In light of the above statements, choose the correct answer from the options given
below:.

. Both (A) and (R) are true and (R) 1 the correct explanation of (A).

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
. (A) 15 true but (R) 1s false.

(A) 1s false but (R) is true.
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-9 31 2H ST T B, U Bl 3G (A) 3R TR B BRI (R) =Y H
Amifed e g

ITBYT (A): TAICH 31 ga 1Y S Rigia geia ol & fom o 72 e
BRI (R): N1 Ul I, URIA®[ &1 U 9O §id1 ©

SR BYHI P 3 4. - fau U fawedi § 3 9 ST I |

1.(A) IR ®) aﬁé’lmﬁaﬁ?{mmﬁﬂﬁw%l

2. (A) 3R (R) 3T TE1 € O (R) (A) BT TS T 8 B |
3. (A) I © @l (R) 31T &
4. (A) 3T & dfpA (R) T Bl

Options :

68019121765. 1



68019121766. 2
68019121767. 3

68019121768. 4

Question Number : 18 Question Id : 6801915565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Stomata tvpe)) LIST II (Family)
A |Anomocytic I. |Acanthaceae
B. |Anisocytic II. |Magnoliaceae
C. |Paracytic III. |Apiaceae

D. |Diacytic IV. |Papaveraceae

Choose the correct answer from the options given below:

- (A) - (D). (B) - (ID). (C) - (III). (D) - (IV)
. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
A(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A)-(IV). (B) - (IT). (C) - (I1). (D) - (I)

fag b2 —

Options :

68019121769. 1
68019121770. 2
68019121771.3

68019121772. 4

Question Number : 18 Question Id : 6801915565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

B CiT & 11
Y FT TFR) F9)
A |oamEERe | 1L |sdud
B. [tFRaEfe® | I [Ammifcas
c. (irasfews | L (wfoed
D. (sl |1V [dua
-t feu T fosed & O gt SR T |

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A)-(1). (B) - (). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (). (C) - (IV). (D) - (I1I)
4. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)

Options :

68019121769. 1
68019121770. 2
68019121771. 3

68019121772. 4

Question Number : 19 Question Id : 6801915566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The anamalous distribution of vascular tissues 1 older stem of Bougainvillea 1s
due to

(A). formation of accessory cambial rings

(B). formation of mterxylary phloem

(C). abnormal behaviour of normal cambium

(D). abnormal behaviour of abnormal cambium

Choose the correct answer from the options given below:

1. (A) only.

2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options:
68019121773. 1

68019121774. 2



68019121775. 3
68019121776. 4

Question Number : 19 Question Id : 6801915566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SNTHfAfer & QR @ H gl SHae! & HuH fave (3rmHay) faarur o
DRI E:

(A) GeF Hiragd R &1 A

(B) S5 o] Flled &1 A1

(C) I BETH T YA ddeR

(D) M HIEEaTH ST AGHY TR

-9 fau U fdeedl O 9 |5t SR I |

1.%dd (A)

2.%qd (A), (B) 3R (C)
3. (A). (B), (C) 3R (D)
4. H4d (B), (C) AR (D)

Options:

68019121773. 1
68019121774. 2
68019121775.3

68019121776. 4

Question Number : 20 Question Id : 6801915567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Malacophyllous leaves are found in

. submerged hydrophytes

. xerophytes

. amphibious plants

4. free floating hydrophytes

| I

s

Options :

68019121777. 1



68019121778. 2
68019121779. 3

68019121780. 4

Question Number : 20 Question Id : 6801915567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl thery Ul urg o &

1. SlaHy Sdifgal 3
2. Iopifegal 8

3. FYTR O H

4. gad oRd Salfgal §

Options :

68019121777. 1
68019121778. 2
68019121779. 3

68019121780. 4

Question Number : 21 Question Id : 6801915568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which amino acid(s) contain's the amino group (-NH,) attached as a side chain.

1. Lys
2. Arg
3. Asn
. Lys and Arg

=

Options :

68019121781. 1
68019121782. 2
68019121783.3

68019121784. 4



Question Number : 21 Question Id : 6801915568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for i1 spe o ST 9HE (NHy) U6 UIES T & TU 3 981 81l o7

. Lys
 Arg
3. Asn

4. Lys 3R Arg

a3 =

Options:

68019121781. 1
68019121782. 2
68019121783.3

68019121784. 4

Question Number : 22 Question Id : 6801915569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ideal value for the backbone dihedral angles for antiparallel B-sheets are:-
(A). @ -120° and ¥+125°

(B). ¢ -139° and ¥+135°

(C). 9 -120° and ¥+130°

(D). @ -115° and ¥+140°

Choose the correct answer from the options given below:

. (A) and (D) only.

. (B) only

. (A). (B) and (C) only.
4. (B). (C) and (D) only.

I =

L]

Options :

68019121785. 1
68019121786. 2
68019121787. 3

68019121788. 4



Question Number : 22 Question Id : 6801915569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UCTOReTd p-2iic & T s suesd Sivl & A AF &
(A). 9-120° 3R v + 125°

(B). 9-139° 3R y + 135°

(C). p-120° 3Ry + 130°

(D). @-115° 3[R v + 140°

=i feu Y faeedl O 9 |8t SR I |

1. %ad (A) 3R (D)

2. %4d (B)

3.%dd (A). (B) 3R (O)
4. %ad (B), (C) 3R (D)

Options :

68019121785. 1
68019121786. 2
68019121787. 3

68019121788. 4

Question Number : 23 Question Id : 6801915570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I (Chemical nature of side cham){LIST II { Amino Acid )
A |Aliphatic amino acid I |Pro
B. |Sulphur containing II. |Gln
C. |Imino III. | Val
D. |Amide IV. |Cys

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IT). (D) - (IV)
2. (A) - (1). (B) - (1II). (C) - (II). (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019121789. 1
68019121790. 2
68019121791. 3

68019121792. 4

Question Number : 23 Question Id : 6801915570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 ¥ [HaH $iforn
I 1I
m#ﬁ%wﬁr ﬁgﬂm
A. QlE 17 éaiqﬁ:ﬁ@g I. |Pro
B. [6e®3 gad 1L |Gln
C. |2 I11. |Val
D. [zaEs IV [Cys
- feu e fgoedl & ¥ |Et SR I |

1. (A) - (I). (B) - (1I). (C) - (III). (D) - (IV)
2.(A) - (1), (B) - (LII). (C) - (I1), (D) - (IV)
3. (A) - (I}, (B) - (II), (C) - (IV). (D) - (III)
4. (A) - (II1). (B) - (IV). (C) - (I). (D) - (II)

Options :
68019121789. 1



68019121790. 2
68019121791. 3

68019121792. 4

Question Number : 24 Question Id : 6801915571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s correct statement about ATP

A. It contains two phosphodiester bond
B. It has one phosphate ester bond

C. It contains ribose sugar

D. It contains adenosine as nucleoside

Choose the correct answer from the options given below:

. (A) - (). (B) - (I). (C) - (IIT). (D) - (IV)
. (A) - (D). (B) - (II). (C) - (II). (D) - (IV)
(A) - (D). (B) - I). (C) - (IV). (D) - (IIT)
. (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

R e

Options :

68019121793. 1
68019121794. 2
68019121795. 3

68019121796. 4

Question Number : 24 Question Id : 6801915571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ATP & aR H FEfaf@a f a s wT sy gt 82
(A) S99 Gl BIEBISEwE aY gid g

(B) S9H U%h BIEhe U fEY gidl g

(C) ST Ugald THI eldl &

(D) 39H GG S & &9 H USHIRHA §al 8|

- fau e faoedl § 9 |gt SR I |

1. &ad (A). (B). 3R (C)
2.%qd (A) 3R (D)

3. »ad (A). (C). 3R (D)
4. (A). (B). (C) 3R (D)

Options :

68019121793. 1
68019121794. 2
68019121795. 3

68019121796. 4

Question Number : 25 Question Id : 6801915572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Myoglobin is a globular protein. which is made up of amino acids.

159

|

Taa

160
4. 170
Options :
68019121797. 1
68019121798. 2
68019121799. 3

68019121800. 4

Question Number : 25 Question Id : 6801915572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HERdle U Tdiger WicH 6. 98 fdd- UHET il 3 &1 82

1.:159
2453
3. 160
4. 170

Options :

68019121797. 1
68019121798. 2
68019121799. 3

68019121800. 4

Question Number : 26 Question Id : 6801915573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which types of protein 1s commonly found in RBC?

. Glyoprotein

. Spectrin

. Ankyrin

4, Spectrin and Ankyrin

g Jd —

Options :

68019121801. 1
68019121802. 2
68019121803. 3
68019121804. 4

Question Number : 26 Question Id : 6801915573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RBC ¥ 9HT: frg UHR & UidH 91U od 82

Options :

68019121801. 1
68019121802. 2
68019121803. 3

68019121804. 4

Question Number : 27 Question Id : 6801915574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N-acetylglucosamine (NAG) and N- acetylmuramic acid (NAM) in cell wall
of bacteria are connected by:

. p-1.4 glycosidic bond
. p-1.2 glycosidic bond
. p-1.3 glycosidic bond
. p-2.4 glycosidic bond

2

e Laa

Options :

68019121805. 1
68019121806. 2
68019121807. 3

68019121808. 4

Question Number : 27 Question Id : 6801915574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S g1 B BT 1T H UH-THIe s aRRIHS S R N-THeRd
T THT A 9 HERT e §)

B-1.4 TARDG oD Y

B-1.2 TR o® Y

B-1.3 TR o® SEY

4. p-2.4 TARHILISDH Y

Options:

o b2 —

68019121805. 1
68019121806. 2
68019121807. 3
68019121808. 4

Question Number : 28 Question Id : 6801915575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the basic properties of Gram positive (+ve) bacteria
(A). Thick peptidoglycan layer is present

(B). Teichoic acids are present

(C). Periplasmic space 1s negligible

(D). Outer membrane 1s present

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

|

L]

Options :

68019121809. 1
68019121810. 2
68019121811.3

68019121812. 4

Question Number : 28 Question Id : 6801915575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

U SFTHD (+ ve) ST & T 70T 7 52
(A) U HIEt UpTs SIemsdh-] B URd HI9E |
(B) TEHIS® I fqgaH &

(¢) URfone ™A TUg

(D) STl freeh faem= ©

- fau e faeedl O 9 98t SR I |

1. %4d (A), (B) 3R (D)
2.%ad (A). (B) 3R (C)

3. (A). (B). (C) 3R (D)

4. %4d (B). (C) 3R (D) Had

Options :

68019121809. 1
68019121810. 2
68019121811.3

68019121812. 4

Question Number : 29 Question Id : 6801915576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I Terms LIST II Example
A |Halophile 1. |Thermus aquaticus
B. |Acidophile II. |Treponema
C. |Thermophile |IIL |Halobacterium
D. [Microaerophile | IV. |Sulfolobus

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (D). (B) - (IT). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (). (B) - V). (C) - (D). (D) - (ID)

Options :
68019121813. 1

68019121814. 2



68019121815. 3
68019121816. 4

Question Number : 29 Question Id : 6801915576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 1 Y fHaE $ifern

g 1 eipt

ud Jalexul
A. |gameEa L |gHg usicay
B [cfasiwa | o (20T
C. |yHimEd 111 | geldacingg
D. |[AEmwmEa| IV. | gawiaey

i< feu e fgoedl § ¥ Het SR A |

L. (A) - D). (B) - II). (C) - (III). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (II). (D) - (IV)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options:

68019121813. 1
68019121814. 2
68019121815.3
68019121816. 4

Question Number : 30 Question Id : 6801915577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Agrobacterium rhizogenes 1s used to genetically engineer the plant because of the
tollowing statement

1. It contains a Ti plamid

2. It causes gene transfer to plants

It infects all types of plants

4. Infects plants and produce a good root system

faa

Options :

68019121817. 1
68019121818. 2
68019121819. 3

68019121820. 4

Question Number : 30 Question Id : 6801915577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIGFEINGH JIEo g 1 9GN] Ule B SalR1% &9 Y o8 &3 &
ferq famar S 8 g ifen -

1,298 U Ti @fcaS gIdT 8

2. T8 UIell § S RIFIGRU T RO 8

3. 08 94l UeR & Uiel oI G fid a1 gl

4. U8 U1} 1 Tfld Sd1 8 3R U 3= o o &1 e $dl o

Options :

68019121817. 1
68019121818. 2
68019121819. 3
68019121820. 4

Question Number : 31 Question Id : 6801915578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following technique 1s used to mactivate a gene by altering the DNA

1. Homologous recombination

2. Antisense nucleic acid block

. Antibody microinjection

4. Introduction of dominant inhibitory mutant

L

Options :

68019121821. 1
68019121822. 2
68019121823. 3

68019121824. 4

Question Number : 31 Question Id : 6801915578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g do-i1d & ITANT Y S U7 U Sl 9ad @, wii- &1 FAfspal &1 odr g2

1. FHSITd YA TG

2. IR A1 S 3 ©s

3. Ulalts As®Is ol

4. YIG SR8 IR DT HA=T

Options :

68019121821. 1
68019121822. 2
68019121823. 3

68019121824. 4

Question Number : 32 Question Id : 6801915579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which 1s not a transmembrane protein?

. ATP synthase
LHC

3.P51

4. Ferredoxin

I =

Options :

68019121825. 1
68019121826. 2
68019121827. 3

68019121828. 4

Question Number : 32 Question Id : 6801915579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

79 & O o1 9 uRG e WicH T8 o
ATP fHUyg

. LHC
.PSII

4. ST

Options :

fas b2 —

68019121825. 1
68019121826. 2
68019121827. 3
68019121828. 4

Question Number : 33 Question Id : 6801915580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'B' gene of ABCD flower model 1s made silenced in a plant. Which of the whorl 1s
absent in the plant.

(A). Sepals

(B). Carpels

(C). Stamens

(D). Petals

Choose the correct answer from the options given below:

1. (B) and (D) only.
2. (B) and (C) only.
3. (A) and (B) only.
4. (C) and (D) only.

Options :

68019121829. 1
68019121830. 2
68019121831. 3

68019121832. 4

Question Number : 33 Question Id : 6801915580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS O1Y ¥ ABCD WIGR HISd aldl 'B' Ol &1 50y & (691 141, 39 99 &
B3l 1 I A S ST g
(A) 99d
(B) FRUA
(C) LHT
(D) 9
- fau a7u fosedl © O 98l ST A |
1. %ad (B) 3R (D)
2. B4d (B) AR (C)
3. B4d (A) 3R (B)
4. %ad (C) 3R (D)
Options :
68019121829 1
68019121830. 2
68019121831. 3

68019121832. 4



Question Number : 34 Question Id : 6801915581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of ATP 1s required for the conversion of one N, to 2 NH,~ during
biological N, fixation?

1. BATP
2. 10 ATP
3. 12A0F
4.16 ATP

Options :

68019121833. 1
68019121834. 2
68019121835. 3

68019121836. 4

Question Number : 34 Question Id : 6801915581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oifd® N, RRIBRU & GRA U6 N, 2 NH,” & SUIRU & [e7J ATP Bl Hd
fpct Bt snaRaedr gt 87

. 8 ATP

. 10 ATP
: I2.ATF
4. 16 ATP

Options:

fad P =

68019121833. 1
68019121834. 2
68019121835. 3

68019121836. 4

Question Number : 35 Question Id : 6801915582 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lignin

(A). 1s a polysaccharide

(B). 18 second most abundant organic compound

(C). 18 a polymer of aromatic alcohols

(D). synthetic pathway 1s peroxidase dependent

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019121837. 1
68019121838. 2
68019121839. 3

68019121840. 4

Question Number : 35 Question Id : 6801915582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferfa )

(A) TP UIARIPRISS &

(B) SERT a4 YgR HE1 H UMl ofH ard SiFiHe difie §
(C) WIBCH Uedlsd &I TP 50D ©

(D) FHH 1y EfisT W Rk &

-1 feu e fdeedl & 3 |t SR 9|

1. %4d (A), (B) 3R (D)
2.3qd (A), (B) AR (C)
3. (A). (B). (C) 3R (D)

4. %dd (B). (C) 3R (D)

Options :

68019121837. 1

68019121838. 2



68019121839. 3
68019121840. 4

Question Number : 36 Question Id : 6801915583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jasmonic acid

1. 1s synthesized from linolenic acid
2. 18 growth promoter

3. delays leaf senescence

4. present in the mosses and ferns

Options :

68019121841. 1
68019121842. 2
68019121843.3

68019121844. 4

Question Number : 36 Question Id : 6801915583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SIS 3

1. feArefae s I Iaftd fearSars
2. 3G Wad® §

3. uvf AT g 3 exar

4.1 AR B 1§ fgguE gar 8

Options:

68019121841. 1
68019121842. 2
68019121843.3
68019121844. 4



Question Number : 37 Question Id : 6801915584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enzyme which converts citrate to isocitrate in TCA cycle is:

1. Aconitase

2. Isocitrate dehydrogenase
3. Fumarase

4. Trans ketolase

Options:

68019121845. 1
68019121846. 2
68019121847.3

68019121848. 4

Question Number : 37 Question Id : 6801915584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T-oIgH ol RIce &1 AE4iRec H# 9aadl o, 98 o

1. TSIy
2. e HINCE Ses Sl
3. TOHRS

4. T DI

Options :

68019121845. 1
68019121846. 2
68019121847.3

68019121848. 4

Question Number : 38 Question Id : 6801915585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The amount of DNA present in the genome of a species 1s called as

1. D-value
2. C-value
3. B-value
4, T-value

Options :

68019121849. 1
68019121850. 2
68019121851. 3
68019121852. 4

Question Number : 38 Question Id : 6801915585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feft U wenfa & St & fdermm Su-u &1 9= &1 Sel 91dl &

1. S-9H
2. 4t.aH
3. &0
4. A

Options :

68019121849. 1
68019121850. 2
68019121851. 3

68019121852. 4

Question Number : 39 Question Id : 6801915586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s the most common form of a DNA?

1. Z-DNA
2. A-DNA
3. B-DNA
4. C-DNA

Options :

68019121853. 1
68019121854. 2
68019121855. 3

68019121856. 4

Question Number : 39 Question Id : 6801915586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad 5 T Sivau &1 969 9= S 9 $IH a1 82

. Z-DNA
. A-DNA
. B-DNA
4. C-DNA

Options :

a3 =

L]

68019121853. 1
68019121854. 2
68019121855. 3
68019121856. 4

Question Number : 40 Question Id : 6801915587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is true about Poly(A) tail ?

(A). Synthesizes post transcriptionally

(B). Usually shorter than 300 nt

(C). Its function 1s to protect the mRNA from cytoplasmic RNAases
(D). Its function 1s to stimulate translation

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019121857. 1
68019121858. 2
68019121859. 3

68019121860. 4

Question Number : 40 Question Id : 6801915587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FfaRad # 9, %19 91 Hu- didl (A) ¢ & aR § T8l o7
(A) UY SIeIEH gRI UXaifNd gidl 8

(B) UHMIT: 300nt ¥ Blelgldl &

(C) SHDHI B mRNA P DIRIHEA RNAase J FaFI B
(D) SHT] Iev IHRd A A ¢

- fau e faeedl § 9 |6t SR I |

1. ®dd (A). (B) 3R (D)

2.%ad (A). (B) 3R (C)
3.(A). (B). (C) R (D)
4.%ad (B), (C) 3R (D)

Options :

68019121857. 1
68019121858. 2
68019121859. 3

68019121860. 4



Question Number : 41 Question Id : 6801915588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Group-1 Group-2
A_ |VNTE sequence I |Gene regulation of the same chromosome
B. |Leader sequence I1. |[Ribosome binding site
C. |SD sequence III. |DNA finger printing
D. |Cis-acting sequence| IV. |Function in attenuation

Choose the correct answer from the options given below:

- (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
- (A) - (III). (B) - (IV). (C) - (II). (D) - (I)
(A) - (D). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

|

e T

Options:

68019121861. 1
68019121862. 2
68019121863. 3

68019121864. 4

Question Number : 41 Question Id : 6801915588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

¥ 1 I 1T
TqE-1 HHE -2
A |VNTR 3IHH L |9HM UREF B Wi e
B. [citex 3 hH 11. [RIZE sree A
C. |SD 3F&HH I11. [DNA R fifée
D. |cis Fareid sgw |1V |&fivm & & &
el fGu U fdsbedl § 9 agt TR |
1. (A) - (D). (B) - (II). (C) - (1IT). (D) - (IV)
2. (A) - (). (B) - (IV). (C) - (I1). (D) - (I)
3.(A)- (1), (B) - (IT), (C) - (IV). (D) - (I1I)

4. (A) - (IID). (B) - V). (C) - (D). (D) - (II)
Options :
68019121861. 1
68019121862. 2
68019121863. 3

68019121864. 4

Question Number : 42 Question Id : 6801915589 Question Type : MCQ Option Shuffling

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : Euchromatin is transcriptionally active and contains most of the
protein-coding DNA.

Reason (R) : Heterochromatin is light staining and less condensed portion of the
chromatin.

In light of the above statements, choose the correct answer from the options given
below.

. Both (A) and (R) are true and (R) is the correct explanation of (A).

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
. (A) 1s true but (R) 1s false.

. (A) 1s false but (R) 1s true.

b2

e Tad

Options :
68019121865. 1

68019121866. 2

:Nols



68019121867. 3
68019121868. 4

Question Number : 42 Question Id : 6801915589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 3l Ty RU MU §, U9 &1 SfidU (A) SR TR & SR (R) & E0 F

AHifdd faar gl

giﬁ-l'tﬁlﬁ (A): THITTCT I § 3R T8 IR HISH-BIET DNA Bl
I

BRI (R): TP IHC o] YT SR AT B H Wai-d 4T B

SWRIad Yl & 3faie 1, 19 feu 10 fasedi 4 4 a8t SR 4|

1. (A) 3R ®) aﬁﬁm%aﬁ?{mmﬁﬂﬁw%l

2. (A) 3R (R) G Tal © Al (R) (A) P! Tg! ORSTT Tal ¢
3. (A) 98! & WfoH (R) 39 T
4,@)3@@1%‘@%{3]@ gl
Options :

68019121865. 1
68019121866. 2
68019121867. 3

68019121868. 4

Question Number : 43 Question Id : 6801915590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Selenocysteine is an amino acid. which 1s:

1. present in only prokaryotes
2. coded by UGA

. derived from cysteine

4. 1s present in many eukaryotic proteins

s

Options :

68019121869. 1



68019121870. 2
68019121871. 3
68019121872. 4

Question Number : 43 Question Id : 6801915590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YAIRREH T U 3% &, -

1. $aq Tapsa! (MieRaes § ffemm gar s
2. UGA gRI Bfed
3. I 9 g

4. @@Wﬁﬁmﬁ?ﬁww%

Options :

68019121869. 1
68019121870. 2
68019121871. 3
68019121872. 4

Question Number : 44 Question Id : 6801915591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : Osmosis 1s a special type of diffusion in which movement of
substances occurs from higher solute concentration to lower solute concentration.
Reason (R) : Diffusion is dominant mode of transport at the scale of a cell.

In light of the above statements, choose the correct answer from the options given
below:.

. Both (A) and (R) are true and (R) 1s the correct explanation of (A).

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
. (A) 15 true but (R) 1s false.

. (A) 1s false but (R) 1s true.

- =

T

Options :



68019121873. 1
68019121874. 2
68019121875. 3
68019121876. 4

Question Number : 44 Question Id : 6801915591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYH [T U B, TP Bl SHHHY (A) 3R TR DI PRUI(R) & =0 4
THifRd fE T g
AFUPYT (A): TRIRUT TS 999 UHR &1 fammur & foresd uerd 1 1fg 3=
faer iga1 4 o4 faoy Sigar & gt 21
BRI (R): HIHT P THH TR [GER01 uRkag &1 e A1y 2|
SR S| P 3fdle 4, -9 f&U 7 fadedi & I 98t SR 4|
1. (4) 3R (R) ﬁﬁm%aﬁ?{mmﬁﬂﬁw%l
2. (A) 3R (R) TF &1 € A (R) (A) Bt Te! SORaT e B |

3. (A) 981 § dfhH (R) 319 B
4. (A) 399 B AT (R) T T

Options :

68019121873. 1
68019121874. 2
68019121875. 3

68019121876. 4

Question Number : 45 Question Id : 6801915592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : The application of transgenic plants are in the delayed ripening,
production of bioplastic. plant as a bioreactor for the production of antibodies. etc.
Reason (R) : Agrobacteria that carries a recombinant plasmid with both a
selectable marker and a desired transgene are used to make plant transgenic.

In light of the above statements, choose the correct answer from the options given
below.

. Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A).
. (A) 1s true but (R) 1s false.

. (A) 1s false but (R) 1s true.

| S

e Tad

Options :

68019121877. 1
68019121878. 2
68019121879. 3
68019121880. 4

Question Number : 45 Question Id : 6801915592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- < YA U U §. U & S (A) 3R G &1 PRUI(R) & =9
Tifea far T gl

HTUDYH (A): URGIHT GIe] BT ST f[ddfad go-, sla@ied & Jdre.
TERTERR d greTl 9§ uicRefl 3dea & i & o d BT g

PRI (R): THIGFINGT ol U6 axUAg O iR Ud aifed ciasii- gl &
Y e ©ifods 5, Uit &l UReid! g & o1t Yai & [ Sidi gl
SWRIFd HYHI & eI 4. i [4U 7Y [dhed] J I 98t SR 1|

1. (A) 3R (R) ﬁﬁﬂﬂ%ﬁ?{m(i}ﬁﬂﬁw%l

2. (A) IR (R) SHT TE & Tt (R) (A) BT UEI ORaAT &1 © |
3.A)FTE A R) ATT B
4. (A) 3T B AT (R) T B

Options :
68019121877. 1
68019121878. 2

68019121879. 3



68019121880. 4

Question Number : 46 Question Id : 6801915593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The role of ethylene in plants 1s:

1. senescence of leaves and ripining of fruits
2. cell division

3. inhibition of root growth

4, production of tuber and bulb formation

Options:

68019121881. 1
68019121882. 2
68019121883.3
68019121884. 4

Question Number : 46 Question Id : 6801915593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grelf & Uidel &1 o et 82

1. gl &1 oitule 3R Wl &1 9&H]
2. BIRHT faHTeH

3. et gfg &1 HerA

4. &g 3R ged v o1 IdgA
Options :

68019121881. 1
68019121882. 2
68019121883. 3

68019121884. 4

Question Number : 47 Question Id : 6801915594 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Plants source Uses
A |Allium sativa [. |Anticarcinogenic
B. |Coptis japonica| 1I. |Cardiac medicine
C. |Taxus baccata |IIL |Insecticidal
D. |Digitalis lanata| IV. | Antibacterial

Choose the correct answer from the options given below:

- (A) - (1), (B) - (I1), (C) - (I1I), (D) - (IV)
(A)- (D). (B) - (III). (C) - (I). (D) - IV)
.(A) - I). (B) - (IV). (C) - (). (D) - (ID)
(A) - (D). (B) - (IV). (C) - (1), (D) - (II)

| S

e o

Options :

68019121885. 1
68019121886. 2
68019121887.3

68019121888. 4

Question Number : 47 Question Id : 6801915594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 gdt 11 ¥ [HaE $ifen

I II
L] T
A |oferm Jerga 1 [ufadraeHt
B. |®ufed Suifa 1L |gca I &l Huiy
C. [TFag s@E 1L (BRI
D. |f&fSefery arer IV, [SiamoRe
-t feu T fosed & O gt SR T |

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (). (B) - (ITT). (C) - (II). (D) - (IV)
3. (A)-(III). (B)-(IV). (C)~(I). (D)-(II)

4.(A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)

Options :

68019121885. 1
68019121886. 2
68019121887.3

68019121888. 4

Question Number : 48 Question Id : 6801915595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shape of chloroplast in Spirogyra 13

. Cup-shaped

. Spiral

3. Girdle shaped
4. Discoid

Options :

| R

68019121889. 1
68019121890. 2
68019121891. 3

68019121892. 4

Question Number : 48 Question Id : 6801915595 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TISRERT H FARIGIRE &1 HDR ©:

1. Y & HBR Bl

2. MU (Spiral) STHR HT
3. 0l & HIPR Bl

4. &% & DR BI

Options :

68019121889. 1
68019121890. 2
68019121891. 3

68019121892. 4

Question Number : 49 Question Id : 6801915596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following algae are used as bio-fertilizers?

1. Spirogyra., Gloiopeltis, Ulothrix
2. Ulethrix. Chara and Anabaena
3. Anabaena. Azolla. Nostoc

4. Nostoc, Volvox. Anabaena

Options :

68019121893. 1
68019121894. 2
68019121895. 3

68019121896. 4

Question Number : 49 Question Id : 6801915596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



feh= QAT &1 FUTNT Wla-3did & =9 & fdar oirdr g2

TR, Teaitfeey, geifay
 geilfiay, PRTSIR A1
G, Gl ARl

4. 91, Flcalay, E?F@'i%"?
Options :

'L.ulul—l

68019121893. 1
68019121894. 2
68019121895. 3

68019121896. 4

Question Number : 50 Question Id : 6801915597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the fungus whose extract from the sclerotia can be used to produce a
powertull hallucinogenic drug?

1. Agaricus

2. Claviceps purpurea
. Alternaria solani

4. Neurospora crassa

LI}

Options :

68019121897. 1
68019121898. 2
68019121899. 3

68019121900. 4

Question Number : 50 Question Id : 6801915597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 HaP D1 A garsU [orge] WeRilcdl & 3dlg 1 Ui, Uh Uidae!
fayaeERT i g9 & foru fasar o gl g2

i
| GG Tar
. SfeeR=RT FiciH]
. ZRIEGRT BT

Options:

T o I

68019121897. 1
68019121898. 2
68019121899. 3
68019121900. 4

Question Number : 51 Question Id : 6801915598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who discovered the heterothallism in fungi?

1. AF Blakeslee

2. Alexander Flemming
3. MP Iyenger

4. Alexopoulos and Mims

Options:

68019121901. 1
68019121902. 2
68019121903. 3

68019121904. 4

Question Number : 51 Question Id : 6801915598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Had o faundedl o1 @i fog- Bt 2

1. T. U, siagal

2. 3CIFo 8T FAlE

3. 09, 4, 3R

4. ToEgIaY 3R iy
Options :
68019121901. 1
68019121902. 2
68019121903. 3

68019121904. 4

Question Number : 52 Question Id : 6801915599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Penicillin 1. |Aspergillus niger
B Fermentation of sucrose and mollasses to I Phyvtaphthora
" |produce citric acid " |infestans

c Fermentation of carbohydrates to produce 11 |Pericitiivm » )
- |ethy! alcohol and CO, . |Penicillium notatum

Saccharomyveces

D. |Irish potato famine IV 8
cerevisiae

Choose the correct answer from the options given below:

- (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
- (A)-(II). (B)-(I). (C)-(ID). (D)-(IV)
. (A)-(III). (B)-(I). (C)-(IV). (D)-(II)
. (A)-(I). (B)-(IV). (C)-(I). (D)-(1I)

| S

e oo

Options:

68019121905. 1
68019121906. 2
68019121907. 3

68019121908. 4



Question Number : 52 Question Id : 6801915599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 9 [ S
Gl I
- gerRfoiTy
A |gfTedH L | o
o [TEe® sra @ SaEA TG Y | |PrgerR
[ iR Ay &1 fevaH |z

SYUTRd Hedled AR CO, Bl IdG e o
@ o [eU Blalelgac @ [dhua |Frees

D. | HTERET AT AP V.| raes

oy

-l

fall

feu 7L fasedl O 9 gt TR A |

(A)-(I).(B) - (II). (C) - (III). (D) - (IV)
. (A)-(II). (B)-(I). (C)-(I1). (D)-(IV)
- (A)-(I). (B)-(I). (C)-(IV). (D)-(II)
- (A)-(II). (B)-(IV). (C)-(I). (D)-(II)

fag B2 —

i

Options :

68019121905. 1
68019121906. 2
68019121907. 3

68019121908. 4

Question Number : 53 Question Id : 6801915600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The alternate host for Puccinia graminis 1s

1. Delonix regia

2. Thalictrum falvum

3. Muehlenbersia hugeli
4. Berberis vulgaris

Options :



68019121909. 1
68019121910. 2
68019121911. 3

68019121912. 4

Question Number : 53 Question Id : 6801915600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 AT @ U i Ui §:

1. ScTliag ot

2. YfeigeH Bread

. BICIaIa g
4. FERY TAING

Options:

T

68019121909. 1
68019121910. 2
68019121911. 3
68019121912. 4

Question Number : 54 Question Id : 6801915601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/are prophylactic (preventive) methods of plant disease
control

(A). Eradication of alternate host

(B). Spraying plants with pesticides and fungicides on a regular basis

(C). Crop rotation practices to control soil borne diseases

(D). Growing antagonistic plants

Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (A) and (C) only.
3. (A). (B). (C) and (D).
4. (B) and (D) only.



Options :

68019121913. 1
68019121914. 2
68019121915. 3
68019121916. 4

Question Number : 54 Question Id : 6801915601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grey I a0 & IR (Far®) foftal & 9t 82

(A) Obiedd Ul BT 3=aA _

(B) Uil R Faftd 0 O Sleamat 3R mae-elt ol fSsea e
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(D) Ueried OiHl &1 ST

- fau e faoedl § 9 |gt SR I |
1. Had (A) 3R (D)

2.%qd (A) 3R (C)
3. (A). (B). (C) 3R (D)
4. %dd (B) 3R (D)

Options:

68019121913.1
68019121914. 2
68019121915. 3

68019121916. 4

Question Number : 55 Question Id : 6801915602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bryophytes are distinct from all other land plants in having an independent
and a dependent

. sporophyte. gametophyte
. female. male

. gametophyte. sporophyte
. antherozoid. oogonia

2

e faa

Options :

68019121917. 1
68019121918. 2
68019121919. 3

68019121920. 4

Question Number : 55 Question Id : 6801915602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sy § WA 3R ST

e T 3 gt ey Oyt I fire §
1@W@E3ﬁﬁmmg

3mﬁmmmummﬁﬁ
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Options :

68019121917.1
68019121918. 2
68019121919. 3

68019121920. 4

Question Number : 56 Question Id : 6801915603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pseudoclators. which help in the dispersal of spores. are present in

1. Psilotum

2. Marchantia
. Riccia

4. Anthoceros

L]

Options :

68019121921. 1
68019121922. 2
68019121923.3

68019121924. 4

Question Number : 56 Question Id : 6801915603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dISTupsit & YR H Geadl &3 dTd YBIGAUCR, —mmemmoemee H g I €

fag B2 —

4, YRR
Options:
68019121921. 1
68019121922. 2
68019121923.3
68019121924. 4

Question Number : 57 Question Id : 6801915604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s not an identifying feature of Cycas

1. Antherozoids are motile

2. Anatomical features of the leaflet indicating it as a mesophyte
. Circinate venation of the foliage leaves

4. Xylem lacking vessels

L]

Options :

68019121925. 1
68019121926. 2
68019121927. 3

68019121928. 4

Question Number : 57 Question Id : 6801915604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. TF® © YRR Gward sfid @t § fo o8 teh diaiwige
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4. SgaH fagi= drigs ™

Options :

68019121925. 1
68019121926. 2
68019121927. 3

68019121928. 4

Question Number : 58 Question Id : 6801915605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Gymnosperms possess winged pollen grains?

. Dandelion
. Cyeas

3. Pinus

4. Ephedra

ad =

Options :

68019121929. 1
68019121930. 2
68019121931. 3

68019121932. 4

Question Number : 58 Question Id : 6801915605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

fag 2 —

68019121929. 1
68019121930. 2
68019121931. 3

68019121932. 4

Question Number : 59 Question Id : 6801915606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A stele which does NOT contain a central pith 1s called as:

. Solenostele

. Dictyostele

. Protostele

4. Siphonostele

| I

L]

Options :

68019121933. 1
68019121934. 2
68019121935. 3

68019121936. 4

Question Number : 59 Question Id : 6801915606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% 3y (i) ooy o Uy T8 glar 8, 39 ®ed o

Options :

68019121933. 1
68019121934. 2
68019121935. 3
68019121936. 4

Question Number : 60 Question Id : 6801915607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the major secondary metabolite present in Clove buds?

1. Thymol
2. Eugenol
3. Zingiberine
4. Piperine

Options :

68019121937. 1
68019121938. 2
68019121939. 3

68019121940. 4

Question Number : 60 Question Id : 6801915607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

fag 2 —

68019121937. 1
68019121938. 2
68019121939. 3

68019121940. 4

Question Number : 61 Question Id : 6801915608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Reserpine 1s obtained from the roots?

. Rauwolfia serpentina
. Datura innoxia

. Withania somnifera
4. Digitalis purpurea

|

L]

Options :

68019121941. 1
68019121942. 2
68019121943. 3

68019121944. 4

Question Number : 61 Question Id : 6801915608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. AIGaIfeHar gftfaersr
2. T gifaRaaT
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Options :
68019121941. 1
68019121942. 2
68019121943. 3

68019121944. 4

Question Number : 62 Question Id : 6801915609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statement(s) 1s/are TRUE for Retting in Jute

(A). It 1s a kind of fermentation process

(B). It employs the action of bacteria on plants

(C). In this, the cortical tissues and phloem tissues of the bark of the plants which
contains free strands are decomposed to separate fibre from non-fibrous woody
stem

(D). This process does not involve any microorganisms and is purely the outcome
of long soaking hours

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019121945. 1
68019121946. 2
68019121947. 3

68019121948. 4

Question Number : 62 Question Id : 6801915609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (D)
2. ad (A), (B) R (C)
3. (A). (B). (C) 3R (D)

4.%ad (B), (C) 3R (D)

Options:
68019121945. 1

68019121946. 2



68019121947. 3

68019121948. 4

Question Number : 63 Question Id : 6801915610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (Economically useful plant)] LIST II (Family)
A |Corchorus sp. I. |Piperaceae
B. |Rosa damascena II. |Malvaceae
C. |Piper nigrum [II. |F.osaceas
D. |Curcuma longa IV, |Zingiberaceas

Choose the correct answer from the options given below:

- (A) - (ID). (B) - (IT). (C) - (IV). (D) - (I)
. (A) - (D). (B) - (II). (C) - (I). (D) - (IV)
(A) - (). (B) - (I). (C) - (IV). (D) - (IIT)
(A) - (II). (B) - (IV). (C) - (I). (D) - (II)

fag B2 —

i

Options :

68019121949. 1
68019121950. 2
68019121951. 3
68019121952. 4

Question Number : 63 Question Id : 6801915610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (II). (B) - (III). (C) - (IV). (D) - (I)
2. (A) - (II). (B) - (III). (C) - (I). (D) - (IV)
3. (A) - (D), (B) - (I1), (C) - @AV), (D) - (11I)

4. (A) - (IID). (B) - V). (C) - (D). (D) - (II)
Options :
68019121949. 1
68019121950. 2
68019121951. 3
68019121952. 4

Question Number : 64 Question Id : 6801915611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Vavilov, crop plants evolved from the wild species in the area which
shows greater diversity and richness in variation. That area is called as:

1. Secondary gene centre
2. Non-centre

3. Primary gene centre

4. Centre for plant genome

Options :

68019121953. 1
68019121954. 2
68019121955. 3

68019121956. 4



Question Number : 64 Question Id : 6801915611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019121953. 1
68019121954. 2
68019121955. 3

68019121956. 4

Question Number : 65 Question Id : 6801915612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
[(Numerical Change in Chromosome)| (Symbolic representation)
A Aumtetraplﬂizl [ |4x
B. |Nullisomy I |21 2%(2)+2x(3)
C. |Monosomy III. | 272
D. |Allohexaploid IV, |2n-1

Choose the correct answer from the options given below:

- (A) - (). (B) - (D). (C) - (IIT). (D) - (IV)
AA) - (). (B) - (III). (C) - (IV). (D) - (II)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

|

e Tao

Options :
68019121957. 1

68019121958. 2



68019121959. 3
68019121960. 4

Question Number : 65 Question Id : 6801915612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C. |eamergad 1. 22
D. |3RuSOT V. [2n-1
i< feu e fgoedl § ¥ Het SR A |

L. (A) - D). (B) - II). (C) - (III). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (IV). (D) - (II)
3.(A) - (D). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options:

68019121957. 1
68019121958. 2
68019121959. 3
68019121960. 4

Question Number : 66 Question Id : 6801915613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In sweet pea. the development of purple colored flowers requires the presence of
two dominant genes. C and R, e.g. CCRR. When either C (e.g. ccRR) or R (e.g.
CCrr) or both the genes (e.g. cerr) are present in homozygous state, the purple
color of tlowers CANNOT be produced. If CCrr (white) 1s crossed with ccRR
(white). what will be the modified dihybrid ratio at F2 generation.

: 15:1
. 13:3
3.9:3:4
4, 9:7

Options :

b =

68019121961. 1
68019121962. 2
68019121963. 3

68019121964. 4

Question Number : 66 Question Id : 6801915613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.
Options:
68019121961. 1
68019121962. 2
68019121963. 3

68019121964. 4

Question Number : 67 Question Id : 6801915614 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A) : Penetrance and Expressivity are term which can be used
interchangeably

Reason (R) : Expressivity is the degree to which a genotype 1s expressed as a
phenotype within an individual. while penetrance refers to the percentage of
individuals with a particular genotype who express the associated phenotype.

In light of the above statements. choose the most appropriate answer from the
options given below .

. Both (A) and (R) are correct and (R) is the correct explanation of (A).

. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A).
. (A) 1s correct but (R) 1s not correct.
. (A) 1s not correct but (R) 1s correct.

e L 2 =

Options:

68019121965. 1
68019121966. 2
68019121967. 3

68019121968. 4

Question Number : 67 Question Id : 6801915614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :




68019121965. 1
68019121966. 2
68019121967. 3

68019121968. 4

Question Number : 68 Question Id : 6801915615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the degree of freedom. if the given data set represents a dihybrid cross?

2

Laa
L PR e R ]

4.
Options :
68019121969. 1
68019121970. 2
68019121971. 3

68019121972. 4

Question Number : 68 Question Id : 6801915615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4,
Options :
68019121969. 1
68019121970. 2

68019121971. 3



68019121972. 4

Question Number : 69 Question Id : 6801915616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The transfer of DNA from one bacterial strain to another by a virus and the
subsequent recombination between the chromosomes of the recepient cells and the
introduced DNA 1s called as:

1. Transformation
2. Transduction
. Conjugation
4. Recombmation

L]

Options :

68019121973. 1
68019121974. 2
68019121975. 3

68019121976. 4

Question Number : 69 Question Id : 6801915616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. gTSH

Options:

faa -0 =

68019121973.1
68019121974. 2
68019121975. 3



68019121976. 4

Question Number : 70 Question Id : 6801915617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the Polyacrylamide Gel Electrophoresis. what 1s the role of APS (ammonium
persulphate)?

1. It 1s an alkylating agent that 1z used with TEMED to catalyze the
polymerization of acrylamide and bisacrylamide

2. It 15 an reducing agent that 1s used with TEMED to catalyze the
polymerization of acrylamide and bisacrylamide

3. It 1s an oxidizing agent that 1s used with TEMED to catalyze the
polymerization of acrylamide and bizsacrylamide

4. It 1s an mutagenic agent that 1s used with TEMED to catalyze the
polymerization of acrylamide and bisacrylamide

Options :

68019121977. 1
68019121978. 2
68019121979. 3
68019121980. 4

Question Number : 70 Question Id : 6801915617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019121977. 1
68019121978. 2
68019121979. 3

68019121980. 4

Question Number : 71 Question Id : 6801915618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the correct sequence of the steps which takes place in Polymerase Chain
Reaction (PCR)?

1. Annealing. Extension. Denaturation
2. Denaturation. Annealing. Extension
3. Extension. Denaturation. Annealing
4. Denaturation. Extension. Annealing

Options :

68019121981. 1
68019121982. 2
68019121983. 3

68019121984. 4

Question Number : 71 Question Id : 6801915618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019121981. 1



68019121982. 2
68019121983. 3

68019121984. 4

Question Number : 72 Question Id : 6801915619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the germination of cereal seeds, what 1s the role of a-amylase present in the
aleurone layer?

1. It directly gets converted into sugars

2. It 1s a reserve food material

It hydrolyzes the endosperm starch into sugars, which provide the energy for
the growth of roots and shoots

4, Tt 1s responsible for seed dormancy

%]

Options :

68019121985. 1
68019121986. 2
68019121987. 3
68019121988. 4

Question Number : 72 Question Id : 6801915619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019121985. 1



68019121986. 2
68019121987. 3

68019121988. 4

Question Number : 73 Question Id : 6801915620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which disease 1s a severe form of protein-energy malnutrition which results when
a person does not consume enough protein and calories?

1. Lathyrism

2. Marasmus

3. Favism

. Night blindness

=y

Options :

68019121989. 1
68019121990. 2
68019121991. 3

68019121992. 4

Question Number : 73 Question Id : 6801915620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019121989. 1
68019121990. 2

68019121991. 3



68019121992. 4

Question Number : 74 Question Id : 6801915621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are different possible glucuronides that can be used as substrates for the -
glucuronidase (GUS-reporter system). depending on the type of detection needed.
The most common substrate for GUS histochemical staining 1s?

1. Galactic acid

2. 5-chloro-4-bromo-3-indolyl glucuromde
. 5-bromo-4-chloro-3-indolyl glucuronide
4. 5.5'-dibromo-4.4'-dichloro-indigo

%)

Options :

68019121993. 1
68019121994. 2
68019121995. 3

68019121996. 4

Question Number : 74 Question Id : 6801915621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019121993. 1
68019121994. 2
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6801912199%6. 4

Question Number : 75 Question Id : 6801915622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cell organelle 1s regarded as semi-autonomous?

1. Chloroplast
2. Peroxisomes
3. Ribosomes
4. Lysosome

Options:

68019121997. 1
68019121998. 2
68019121999. 3
68019122000. 4

Question Number : 75 Question Id : 6801915622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Scientific Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019121997. 1
68019121998. 2
68019121999. 3

68019122000. 4



